
1) 4017 + 4649

Answer: ____________

2) Find perimeter of 
square having each side 
(s) equals 6814 m

Answer: ____________

3) Round 26.510146170720 to the 
nearest whole number.

Answer: ____________

4) (-500) ÷ (-100)

Answer: ____________

5)
34  Find Volume of Cone 

30

Answer: ____________

6) Find the mean of the following set of data:

1, 53, 0.5, 0, 0.2

Answer: ____________

7) (-39) x 94

Answer: ____________

8) Share 33 in the ratio 11:22

Answer: ____________

9) 76.8 x 47.6

Answer: ____________

10) Factorise s2 + 8s + 15

Answer: ____________

11) Find the mode of the following set of data:

136, 136, 60, 60, 30, 30, 30, 30, 30, 
30, 198, 198, 198, 198, 160, 160, 
160, 134, 134, 134

Answer: ____________

12) Increase 204 by 1/102

Answer: ____________

13) What would you multiply by to 
decrease an amount by 26%?

Answer: ____________

14) Factorise 5q2 + 24q + 19

Answer: ____________

15) 403/5 x 216/7

Answer: ____________
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16) Convert the following improper 
fraction 22/3 + 116/20 into a mixed 
number

Answer: ____________

17) 1480 x 3736

Answer: ____________

18) (4 x 15) x (4 x 31)

Answer: ____________

19) Solve by factorising 
f2 + 6f - 7 = 0

Answer: ____________

20) A number was shared in the ratio 
15:63. The smaller share was 65. 
What was the larger amount?

Answer: ____________

21) Round 24.01395343 to 5 significant 
figures.

Answer: ____________

22) 6/
14 ÷ 33

/19

Answer: ____________

23) Factorise 3s2 + 20s + 12

Answer: ____________

24) 2/8 x 38/16

Answer: ____________

25) 52 x 10

Answer: ____________

26) Find area of 
rectangle having 
sides a = 8587 ft 
and b = 3398 ft

Answer: ____________

27) (-816) ÷ (-68)

Answer: ____________

28) 7821 x 2688

Answer: ____________

29) Simplify 32:28

Answer: ____________

30) 74601.2 ÷ 842

Answer: ____________
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31) Solve by factorising 
q2 - 13q - 14 = 0

Answer: ____________

32)

'Name the type of angle.

Answer: ____________

33) An amount was increased by 4.2% to 
$330.00. Find the original amount.

Answer: ____________

34) (5 x 75) + (2 x 57)

Answer: ____________

35) Find perimeter of 
square having each 
side (s) equals 2615 cm

Answer: ____________

36) Find perimeter of 
square having each 
side (s) equals 2615 cm

Answer: ____________

37) Convert the following improper 
fraction 24/18 + 207/15 into a mixed 
number

Answer: ____________

38) (3 x 38) x (5 x 104)

Answer: ____________

39) 4788 ÷ 84

Answer: ____________

40) 17/8 x 3214/18

Answer: ____________

41) 7317 + 1812.7

Answer: ____________

42) Find the value of 'j' by completing the 
square of the following equation: 2 + 
8j + 12

Answer: ____________

43) Find the percentage change from 100 
to 201

Answer: ____________

44) Convert the following fraction into a 
mixed number: 38/28

Answer: ____________

45)
39  Find Volume of 
               31       Cylinder 

Answer: ____________
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46) Round 16.08 to the nearest 1000

Answer: ____________

47) 25/8 x 12/7

Answer: ____________

48) 52971.3 ÷ 621

Answer: ____________

49) Convert the following improper 
fraction 213/10 + 61/2 into a mixed 
number

Answer: ____________

50) Find the percentage change from 450 
to 162

Answer: ____________

51) Find perimeter of 
square having each 
side (s) equals 9772 ft

Answer: ____________

52) 8/18 x 20/19

Answer: ____________

53) Solve by factorising 
j2 - 2j - 15 = 0

Answer: ____________

54) Decrease 338 by 93%

Answer: ____________

55) 84.6 x 85.9

Answer: ____________

56) What would you multiply by to 
increase an amount by 3%?

Answer: ____________

57) 5286.4 ÷ 944

Answer: ____________

58) 616 * 67

Answer: ____________

59) 26   2/4 - 37   11/13

Answer: ____________

60) 26   2/4 - 37   11/13

Answer: ____________
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61) 5115 ÷ 93

Answer: ____________

62) 39
Find Volume of 

                        Rectangular Pyramid 
36

38

Answer: ____________

63) 116/13 ÷ 385/13

Answer: ____________

64) Convert the following improper 
fraction 3417/20 + 2813/15 into a 
mixed number

Answer: ____________

65) (-836) ÷ 19

Answer: ____________

66)
16

6 /12

Answer: ____________

67)
16

6 /12

Answer: ____________

68) Round 16.145292 to the nearest 1000

Answer: ____________

69) Find the mean of the following set of data:

0.3, 59, 46, 95, 59, 45

Answer: ____________

70)
40

Volume of Cone 
40

Answer: ____________

71)
4

2 /4

Answer: ____________

72) Find the mean of the following set of data:

90, 0.5, 9, 0.5

Answer: ____________

73) 1262 x 9622

Answer: ____________

74) Round 4.562600 to the nearest 1000

Answer: ____________

75) Round 4.562600 to the nearest 1000

Answer: ____________
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76) Convert the following improper 
fraction 348/11 + 391/7 into a mixed 
number

Answer: ____________

77) Convert the following improper 
fraction 348/11 + 391/7 into a mixed 
number

Answer: ____________

78) 7349.4 + 2715.4

Answer: ____________

79) 8763 - 8371

Answer: ____________

80) (2 x 83) - (10 x 94)

Answer: ____________

81) An amount was decreased by 9% to 
$371.00. Find the original amount.

Answer: ____________

82) Find perimeter of 
square having each 
side (s) equals 8306 ft

Answer: ____________

83) Factorise s2 + 9s + 14

Answer: ____________

84) What would you multiply by to 
decrease an amount by 44%?

Answer: ____________

85) 6499 + 9221

Answer: ____________

86) 32   1/17 - 39   1/2

Answer: ____________

87) Find the median of the following set of data:

25, 24, 39, 18, 37, 13, 40, 15, 35, 
37, 11, 29, 5, 34, 28, 11, 30, 20, 23, 
5

Answer: ____________

88) 19468.8 ÷ 576

Answer: ____________

89) Find the median of the following set of data:

12, 40, 24, 35, 33, 25, 21, 9, 9, 16, 
35, 15, 35, 18, 39, 19, 3, 33, 13, 2

Answer: ____________

90)

A = 79  B
Find the Angle at side B.

Answer: ____________
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91) Write 5 x 102 as a normal number.

Answer: ____________

92) Increase 390.9 by 77%

Answer: ____________

93) Write 9 x 105 as a normal number.

Answer: ____________

94) 9810 - 9502

Answer: ____________

95) (-9420) - (-1173)

Answer: ____________

96) $462.00 earning 8.5% compound 
interest for 9 years.

Answer: ____________

97) Find area of square 
having each side (s)
equals 7304 in

Answer: ____________

98) Find area of square 
having each side (s)
equals 7304 in

Answer: ____________

99) Find area of square 
having each side (s)
equals 7304 in

Answer: ____________

100) Round 1.4 to the nearest 10

Answer: ____________

Total: ___ / 100
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Answers:

1) 8666 2) 27256m 3) 27 4) 5 5) 8011.061266654 6) 10.94 7)

8) 1 : 32 9) 3655.68 10) (s + 3)(s + 5) 11) 30 12) 206 13) 0.74 14) (5q + 19)(q + 1)

15) 8872/5 16) 47/15 17) 5529280 18) 48 19) f = 1 or -7 20) 273 21) 24.014

22) 19/77 23) (1s + 6)(s + 2) 24) 19/32 25) 520 26) 29178626ft 27) 12 28) 21022848

29) 8 : 7 30) 88.6 31) q = 14 or -1 32) Obtuse 33) $316.70 34) 240285 35) 10460cm

36) 10460cm 37) 2231/45 38) 984150000 39) 57 40) 6111/24 41) 9129.7 42) (j + 4)2 - 4

43) 101% 44) 15/14 45) 117743.75106389 46) 16.08 47) 55/14 48) 85.3 49) 274/5

50) -64% 51) 39088ft 52) 80/171 53) j = 5 or -3 54) 23.66 55) 7267.14 56) 1.03

57) 5.6 58) 623 59) 229/26 60) 229/26 61) 55 62) 17784 63) 149/499

64) 6343/60 65) -44 66) 4 67) 4 68) 16.145 69) 50.72 70) 67020.643276582

71) 2 72) 25 73) 12142964 74) 4.563 75) 4.563 76) 7367/77 77) 7367/77

78) 10064.8 79) 392 80) -64586 81) $337.61 82) 33224ft 83) (s + 2)(s + 7) 84) 0.56

85) 15720 86) 1415/34 87) 24 88) 33.8 89) 25.5 90) 101 91) 500

92) 691.893 93) 900000 94) 308 95) -8247 96) $962.74 97) 53348416in 98) 53348416in

99) 53348416in 100) 1.4
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